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1. Consider the following statements regarding price elasticity:

I. Because the demand of rice is inelastic, farmer’s income could be lower in the year of
abundant harvest.

I1. Because the demand of drug is inelastic, a policy which reduces drug demand is a better
way to reduce drug-related crime than a policy which reduces drug supply.

IIL. Because the long-run elasticity of oil demand is greater than the short-run one, it is harder
for the Organization of the Petroleum Exporting Countries (OPEC) to maintain a high oil
price by reducing oil production in the long-run.

(a) Only statement I is correct.

(b) Only statement II is correct.

(c) Only statement III is correct.

(d) Only statement I and II are correct.

(e) Only statement II and III are correct.

(f) Only statement I and III are correct

(g) All of the three statements are correct

2. The demand for MBA and DBA increases rapidly in U.S. corporate during 1990s, leading
to an increase in the salary of MBA and DBA. Please consider the impact of raising salary of
MBA and DBA on the labor market of professors in the management school.
L. The increasing salary of MBA and DBA in U.S. corporate will lead to an increase in the
supply of professors in the management school.
II. The increasing salary of MBA and DBA in U.S. corporate will lead to an increase in the
demand of professors in the management school.
III. The increasing salary of MBA and DBA in U.S. corporate will cause changes in labor
market and lead to higher salary for professors in the ma.nagement school.
IV. The increasing salary -of MBA and DBA in U.S. corporate will cause changes in labor
market and lead to higher employment for professors in the management school.
(a) Only I and IV are correct ° V '

(b) Only II and III are correct ©
(c) Only II and IV are correct °
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(d) Only I and III are correct °
(e) Only II, III, IV are correct °
(f) Only I, I1, III are correct °

(g) All of the above statements are correct.
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© Mary is considering how to deal with her New Year’s money in the red e;nvelope. She
plans to save a fraction of her' money in the bank and earns a risk-free rate of 5%. The
remaining of her money will be used to purchase common stocks of company F. The expected
rate of return for the stock is 10% and the standard deviation of the return is 20%. Let x be the
fraction of money that Mary deposit in the bank. For simplicity, we assume 0 =x = 1. Suppose
that Mary’s. preference on the investment portfolio can be represented by a mean-variance
utility function U(u,0) =40p- 0.5ko?, where p is the portfolio’s rate of return, o is the
portfolio’s standard deviation, and k is a constant. Mary will chbose X to maximize her utility.
(5) Suppose k=1, find the optimal x for Mary. .

(6) Suppose k=2, then Mary will save more than 50% of her money in the bank. (Please
answer “True” or “False™) ’

(7) Assume k=1. Suppose the expected rate of return for the stock increases to 20% and the
standard deviation of the return becomes 40%, find the optlmal X for Mary.

(8) Assume k=1. Suppose the risk-free rate increases to 8%. All other things being equal
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Mary will save more than 50% of her money in the bank. (Please answer “True” or “False™)

© %Zﬁ5Jﬁﬁ?ﬁﬁﬁ—-ﬁﬁﬁgﬁ?&ﬂ’]ﬁﬁ%m%ﬁ R R 4 R B E A,
SN EREERAEES 4 T EUREERAEEAS T SESEES 7T -
LR R E R 6 BfT, TIRBERIGES o oo 541, 7 LB T, Hite@rRA
WERS 12, EHERY FINESERIGES 36 7T (B2 EEFIEE 0- BEEToh:
(9) EREEETERE—EAS (770 2T » SRR A

(10) TERGFERT R E—E%S T, SRS EEIELe BT

(1) BERERE T U A B R AT FETE RS RETE, R RS
fa?

(12) BERAETER2RETEAEEERA C, HI% C/INATER 18 BE T o
ITSEREERETE - GHEE T2, &R T9,) |

O EWmEEE X B Y WEERS, HEHmWERNRERE, SEAEENWARER - B
BEERAEMARA, BEERAEER, SEIREEIN X #)Y BRI EE

TR

A ZUEER B AYREE O ZREE AB BIIREE
EmX 30 55 60 110
ERY 110 100 90 30

(13) #EREERSHETEEMEST, A IR RS X EE AR ER ] (R
(14) FEREEMRSBETERBEST, FHAEREFTEZT Y ESAFERS?
(15) FHRCEREREE A & bundling), AIESERIEIIRSL?

(16) FAIASRE PR EE AL A S RORER N EE D BUR TR B S B OREF s E N 2 7

-




»
3

%% B IIEMBIERE R SR

L )ﬁ%%:;mg B BESQ)

- 1. Biélogi’sts have noticed that the chirping rate of crickets of certain species is related to
temperature, and the relationship appears to be very nearly linear. A cricket produces 113
chirps per minute at 70°F and 173 chirps at 80°F per minute. Please find the rate of chirping,
if the temperature is 85°F.

A.817 B.203 C.293 D.318

2. Use the table of values to define the function h.

x| 1] 2]3]4]5]6
fo)l 1] 0| 1] 2]3]4
g 32655 3]-
ol 1 1o 4331

A h=fog B. h=f+g C. h=gof D. h=g-f

l1-x x<-1
3. Consider the followmg function f(x)=<x —1 < x <1and determine the values of a
(x-1)* x21 )
for which lim f(x) exists.
A. (=, ~DU[-L 1] U (L, )
B. ('—OO, —1]\)(—‘1, I]U(]., 00) .
C. (o, =1Ju (-1, HUI], =) - -
D. (_°0> - 1) o (_1, 1) U (1> 00)
) -
4. Evaluate the limit: hm(—Gﬂ)——G— .
x

A. The limit does not exist ~ B.-1/36 C.1/6 . D.1/36

5. Please find-a number & such that '\/4x+'1 —3’ < 0.4 whenever lx— 2, <J
A.0.56 B.0.71 C.0.64 D.0.79
6. Suppose that F(x) = f(g(x))and g(15)=3, g (15) =14, f(15)=20,and f (3)=12.

Please find F'(15).
A. 630 B.36 C.168 D.26
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7.Find y by implicit differentiation: 48x* +8y* =1.
- ! ~ X )

A y=-s6% . B y=-38
N y .

Z.C y=-6xy D y=6=
Y y

, / 2
8. Find the limit lim Y+ 0% |

x—mo 6x+1

Al B.5/6 C.1/5 D.1/6

9. Use Newton's method with the specified initial approximation x, to find x,, the third

approximation to the root of the given equation x*=20=0, x, =7. (Give your answer to

four decimal places.)
A. 5.0927 B. 3.9827 C.5.2646 D. 4.3527

10. If A(x)=x++/x, find A7 (12).
A6 B.8 C9 DIl

3e6x
11. Evaluate the integral I—6——3—dx .
e”¥ +3e7 42
x 2 : 3x‘ 2 '
A w2 e B o) e
(e* +4) (e’*+2)

3x 2 x 2
C. 1{(‘2—3;%} +C D. ln[M:' +C
e .+
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12 Evaluate the 1ntegral J. dx

(6~ mﬂ c BJ— él H(6+\/3—6—x)q

A. V36-x2 +61‘np y ’

¥36-x? +61nh(6‘“36"x2)u+c D. V36-x" —+6In H“ “36 x )H

?

C.

X x

13. Solve the differential equation (6 + t)% +u=6+t, >0

2 3 2 6t+i2—+C
A= o ¥ o oy 8 2
t+6 t+6 t+6 t+6

. 0 n
14. Find the interval of convergence of the series Z(—l)” (x+8) i)
n:l n6

A.(-14,-2) B.(-14,-2] C.[-14,-2] D.[-14,2)

15. Find a power series representation for the function f(y) = ln[:// +y :l

o . 0 ntl . ) y2n+1 o0 2y2n+1
A D)7y B Y 7yt C. —_— D. — .
ngb . n§0 . nz=o7"+1(n+1) im0 7" (2n+1)
x+y : ou
16. u= , X =ptor+st, y =p-6r+5t, z= p+6r—5t find —
y+z : o’ _
st 20f 5¢ 25¢
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17. Find equation of the normal line to the given surface 2x% +8 y2 +32%2 =235 atthe

specified point (4, 4, 5).

e 4_y-4_z-5 Bx—4_y—4_é—5
15 50 - 30 " 10 50 30
C.x--4=y—4=z—5 ‘ D‘x—4=y—4=z—5
16 64 30 16 54 20

18. Calculate the double integral ”xyey dA R={(x,y)|0<x<2,0<y < 1}
R

A.4.19 B.-2 C. 12.87 D.2

4

19. Use the given transformation x = 1, y = vto evaluate the integral ”xy dA, where R is
v
R

the region in the first quadrant bounded by the lines y = x, y = 3x and the hyperbolas xy = I,

xy =3.
A.5In3 B.31In2 C.21In3 D.21n5

20. Find the Maclaurin series for f(x) =(2+ x)_3

w (=) (n+1)(n+2)( ) " 00. ( 1) (n+1)(n+2)(—)
A.

o ()" () +2)()" o (D" (DR
C. -
' nz=:0 34 n;o 2!
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